Finite Math - Spring 2017
Lecture Notes - 3/20/2017

Problem 1. Solve the system of equations using the graphing method
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Problem 2. Solve the system of equations using the graphing method

zT+2y = 4
2r+4y = -8
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Problem 3. Solve the system of equations
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Problem 4. Solve the system of equations
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Problem 5. Animals in an experiment are to be kept under a strict diet. Fach
animal should receive 20 grams of protein and 6 grams of fat. The laboratory
technician is able to purchase two food mizes: Mix A has 10% protein and 6% fat;
miz B has 20% protein and 2% fat. How many grams of each miz should be used
to obtain the right diet for one animal?

M A | M) Total L x=# grame wix A
_(Pr‘&f?i”k A : o } L0 Vs #/’fﬂmﬂ mix D

s i

ft | .06 | 02| 6 Ay e O

- 7 (2‘7(*;—-!»‘ =20
X+ Q/ -0 D -le%qq,-

- 3 + 2 = 20
0{\\ " (}M/ é‘ . —fO@ .O% “_-2\/~ éO lj\
K =) X = ?O

Tox =40 \/ 60
Use g 57[ mix A m"dr 60, 7 ,vwmf);

roblem €. Solve the system of equations using Gauss-Jordan elimination
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Problem 7. Solve the system of equations using Gauss-Jordan elimination
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Problem 8. Solve the system of equations using Gauss-Jordan elimination

3z + 8y — 2z = —18
2z + y + 5z = 8
2 + 4y + 2z = —4
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Problem 9. Solve the system of equations using Gauss-Jordan elimination
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Problem 10. Solve the system of equations using G'auss Jordan elimination
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Problem 11. A chemical manufacturer wants to lease a fleet of 24 railroad tank
cars with a combined carry capacity of 520,000 gallons. Tank cars with three dif-
ferent carrying capacities are available: 8,000 gallons, 16,000 gallons, and 24,000
gallons. How many of each type of tank car should be leased?
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